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I (end of 21 Mwn — continuing M1 *pn): if a JPY NVIV ,WIN MW fell in to the M1 - liable
a  Cannot mean: owned by a v"wn, which would imply that if owned by a npa —110a
i Rather: means a 1w which is deaf (etc.)
1 Challenge: this implies that a capable v is exempt!
(a) Answerl (i7n7 77): liable, but X"10 that there’s no liability for a deaf 11w (his deafness caused the fall) — 9"np
(b) Answer2 (x¥37): implication is correct — only liable for deaf etc. MW or at night; but during the day, a capable
animal should see where he’s going (supporting xn»92)
b  However: if a child or slave fell in, no liability (as with all people)
I »mwn: "v” and Mnn are only typical examples, and all animals are included for the following:
a falling into a 112 - as per v. 1 (anything that has an owner)
separation from the mountain at "o 90 YN — as per v. 2 ("oR” includes fow])
liability for double payment for theft (593) - as per v. 3
returning if lost (n7aR nawn) - as per v. 4
the obligation to help a fellow unload his animal’s pack (np»9) inferred via vv. 5, 7 from naw (1nn)
prohibition against muzzling him while he’s threshing (nn*on) inferred via vv. 6-7 from naw (Mv)
mixing breeds (Dx%3)
i breeding (nya1n)
ii ~ working together (nxnin)
h  naw - he may not do naro>n
i  inferred from combination of v.7 and v. 8 —
1 challenge: why not read v. 7 as 993 and v. 8 as v = only mmm M
2 answer: NN 92 (v. 7) is a closing 993 = anything akin to 1ynm 7w (all animals)
(a) Challenge: why not read the common feature of 9991 W more narrowly — Rwn Yina NRNYN NMNY21 > not fowl
(b) Answerl: if so, the nmn would only need write 1 via (1w OR 1nN) — writing both > even fowl
(i) Block: neither would have led to other (17w is nam 3"y 23p, 7N has 7131 NVITP)
(c) Answer2: nnna Y31 is an expansive word implying all
(i) Challenge: 93 doesn’t always function this way — e.g. in re: 20 7yn (v. 9 —read as 5921 V191 Y92)
(ii) Answer: 93 is a "17; 923 is a Hv3
(iii) Or perhaps: 93 is also a 993; but Y2 in v. 7 is a 119, as it could’ve said Jnnnay (w/o "93”) asinv. 8
(d) If so: why list qnnna (v. 8) and mmm M (v. 7)?
(i) Each needed: ™ — as a model for nnron; 19N — model for np»9; NN — for DR
1. if so: why isn’t man also prohibited from working with an animal (n)x2)
2. answer: v. 7 — only equated for naw naxvn
ii  tangent: re: omission of "110” from “first tablets”
1  tangent: significance of seeing the letter n”v in a dream — vv. 10-13 (and seeing a written 7907 in a dream)
II final clause of » mwn: birds and fowl are included in all of these as well
a 11 quail, pheasant and peacock are o853 with each other, even though they breed from each other
b Sxnw: geese/wild geese= mrY3;not due to different necks (then diff. camels would be n'&853) but because genitalia are in/out
¢ 9" cross-breeding two species of the sea = mpbn; infers ynrn:nrn (in X NWRI) from land
i question: leading (a cart) with a goat and fish — np9? Perhaps since they are in diff. domains — exempt
ii  answer: liable; unlike planting a mixture, part in »"X, part in 5"1n (exempt) — there, liability only exists on one side (")
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